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First Printing:  December 2014
Corrections for June 1, 2017
	Pg
	Error – Fourth Printing
	Correction

	152
	Chapter 4, Second Paragraph. Last Sentence
Reads:

Your best option is to use VTPv3 because only the VTP primary server will be considered a trusted source of VTP messages within the VTP domain, and any other VTP messages will be ignored, ensuring that your database is not overwritten by a rouge switch.
	Should read:
Your best option is to use VTPv3 because only the VTP primary server will be considered a trusted source of VTP messages within the VTP domain, and any other VTP messages will be ignored, ensuring that your database is not overwritten by a rogue switch.

	280
	Chapter 7, Figure 7-5, IP Addresses of PC1 and PC2
Reads:

PC1 10.1.1.1.0

PC2 10.1.1.2.0
	Should read:
PC1 10.1.1.10

PC2 10.1.1.20

	414
	Chapter 11, Example 11-21, Ninth Line Down

Reads:

Ip prefix-list TSHOOT:  3 entries
	Should read:

Ip prefix-list TSHOOT:  4 entries


Corrections for April 4, 2017
	Pg
	Error – Fourth Printing
	Correction

	145
	Chapter 4, First Paragraph after Example 4-10, Second Sentence

Reads:

While you are looking at Table 4-12, remember that dynamic auto, dynamic desirable, and trunk all use DTP by default.
	Should read:

While you are looking at Table 4-2, remember that dynamic auto, dynamic desirable, and trunk all use DTP by default.


Corrections for May 13, 2016
	Pg
	Error – Second Printing
	Correction

	249
	Chapter 7, Question 6

Reads:

6. What must be true for dynamic ARP inspection to operate successfully? (Choose two answers.)
	Should read:

6. What must be true for dynamic ARP inspection to operate successfully using the DHCP snooping database: (Choose three.)


Corrections for March 25, 2016
	Pg
	Error – Second Printing
	Correction

	952
	Appendix A, Chapter 7, Question 6 Answer

Reads:

6. A and B
	Should read:

6. A, B, and C


Corrections for January 18, 2016
	Pg
	Error – Second Printing
	Correction

	484
	Chapter 13, Example 13-32, First Line

Reads:

R2#show ip route
	Should read:

R1#show ip route

	729
	Chapter 17, First Paragraph, Second Sentence

Reads:

As shown in Example 17-55, only the routes 2001:db8:0:1::/64 and 2001:db8:f::/64 are being redistributed.
	Should read:
As shown in Example 17-55, only the routes 2001:db8:0:23::/64 and 2001:db8:f::/64 are being redistributed.


Corrections for September 11, 2015
	Pg
	Error – Second Printing
	Correction

	176
	Chapter 5, Key Topic, Determining Designated Port, Step Number 1

Replace Step Number 1


	Replace with:

1.   Identify the port on the segment with the lowest cumulative cost back to the root bridge (do not include the cost of the segment itself). SW2 Gi1/0/2 has a cumulative cost from SW2 to SW1 (the root bridge) out Gi1/0/5 of 4. SW3 Gi0/2 has a cumulative cost from SW3 to SW1 (the root bridge) out Gi0/1 of 4. We have a tie, so we move on to Step 2.


This errata sheet is intended to provide updated technical information. Spelling and grammar misprints are updated during the reprint process, but are not listed on this errata sheet.

Updated 06/01/2017 


